Chapter 37 Study Guide 

Communities and Ecosystems

1.
Choose the most appropriate answer to match with each term

1.  ___ habitat
A.  An interaction that directly benefits one species but does not harm or help the other


2.  ___ community
   B.  Has adverse effect on both of the interacting species


3.  ___ commensalism
   C.  The parasite benefits, the host is harmed

            4.  ___ mutualism
   D.  The type of place one finds a particular organism;   

   characterized by physical features as well as other species

        
5.  ___ interspecific
   E.  The predator benefits, the prey is harmed



competition
   F.  An interaction from which both species benefit


6.  ___ predation
   G.  The association of all populations of species in any 


7.  ___ parasitism 
   given habitat
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. Small fish called remoras accompany sharks and dme on scraps

left over when sharks feed.

. Sheep liver ﬂukes feed on bile and can weaken or kill their hosts.

They are passed on. to other sheep in the animals’ droppings.

. Grazing by introduced mountain goats has reduced the numbers

of alpine wildflowers in Olympic National Park.

. Pest-control specialists have brought in a destructive moth to eat

tansy ragwort, a poisonous weed.

. Mistletoe obtains nutrients from a tree host.

. A small shrimp takes shelter inside a sponge, which is apparently

unaffected by its tenant.

. Mycorrhizal fungi associated with.roots obtain carbohydrates

from a tree, while enabling the tree to absorb water and minerals
more efficiently.

. In many parts of North America, the starling has displaced the

bluebird from jts nest sites.

. A bee pollinatés a tropical orchid by being tricked into “mating”

with-the flower; the bee uses a perfume from the flower to attract
a mate. :

The influenza virus attacks the lining of the respu'atory tract and
is passed from person to person by contact or airborne droplets.

Red-wmged blackblrdb arrive earlier on the breeding grounds but

are forced to the edges of a marsh by larger, later-arriving yellow-
headed blackbirds.

Lions hunt large herbivorous mammals such as zebras and wilde-
beest.




3.  Identify each of the following as either


a.  primary succession or
b.  secondary succession

[image: image2.jpg]___Following a disturbance, a patch of habitat or a community moves once again toward the climax
state.

____Successional changes begin when a pioneer population colonizes a barren habitat.

___Involves populations that are adapted to growing in habitats that cannot support most other popula-
tions

___ Many plants in this succession arise from seeds or seedlings that are already present when the
process begins.

___ Early successional populations inhibit the growth of later ones, which become dominant only when
some disturbance removes the established competitors.

___ The first plants are typically small with short life cycles; each year they produce an abundance of
quickly dispersed small seeds.

___ A successional pattern that occurs in ponds, shallow lakes, abandoned fields, and in parts of estab-
lished forests

___Onland, early and late species often are able to grow together under prevailing conditions.
___Might occur on a new volcanic island or on land exposed by the retreat of a glacier

___Includes populations adapted: to growing in areas exposed to intense sunlight, wide temperature
swings, and nutrient-deficient soil




4
When Gause cultured Paramecium aurelia and Paramecium caudatum together, P. caudatum was invariable driven to extinction.  When P. aurelia and P bursaria were cultured together in another experiment, however, both were able to coexist for months.  What kinds of similarities and differences must there be among the 3 species?  What do you think would happen if P. caudatum and P. bursaria were cultured together?  Why?

5. 
Explain in ecological terms why a given area of farmland can support more people if they eat plants rather than meat.

6.  
What is decomposition?  What are the two major kinds of decomposers in most ecosystems, and how is their role important to the ecosystem?

7.  [image: image3.jpg]Label and color the trophic levels on the diagram: producers
(green), primary consumers (blue), secondary consumers (pink), and tertiary consumers
(orange). Label and color the pattern of energy flow: sunlight (yellow), production en-
ergy (orange), energy used in cellular Tespiration (red), and energy in wastes (brown).
(Note: Can you see from this diagram why quaternary consumers are quite rare?)

To
detritivores





8.  Elmer Q. Retchfickle, a civil-defense expert, has developed a design for a fallout shelter to be used during a nuclear war.  Elmer proposes to have the inhabitants of the shelter eat mushrooms, which would be grown in the dark on the body wastes of the residents of the shelter.  He thinks that this system would allow shelter residents to remain underground indefinitely.  Aside from the questionable nutritional balance of an all-mushroom diet, do you see any problems with this plan from an energy standpoint?  Explain.

9.  An experimental fish farm consists of algae, crustaceans that eat algae, and fish that eat crustaceans.  If the algae grow at a rate of 20 kilograms of algae per square meter of pond per year, how big will the pond have to be to harvest 1000 kilograms of fish per year?  (Assume that energy content is proportional to weight.)

